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Supplemental Table 1. IMPDH1 and IMPDH2 have similar kinetics 
(A-E) Table comparing Vmax, K0.5, and Hill coefficients for IMP and NAD+ for IMPDH1 and IMPDH2. Reactions 
performed with 1 µM protein, 1 mM ATP, 1 mM or varying IMP, and 300 µM or varying NAD+. All data points reported 
are an average of 3 measurements from the same protein preparation. Fits for activity assays were calculated using 

the Hill-Langmuir equation V = Vmax*[S]n/((K0.5)n+[S]n) and IC50 was calculated using a modified Hill equation 

V=Vmin*(Vmax-Vmin)/(1+(I/IC50)hill63. 
 

 

 

 

 

 

 

 

 

 

 

  

  

   

 

 

 

 

 

  

https://paperpile.com/c/xeoUJq/sX2T


 

Supplemental Table 2. RMSD between catalytic domains of models 
Top-down view of tetramer with catalytic domains (green) and regulatory domains (pink). Models are 
aligned on catalytic domain with asterisk and alpha carbon RMSD is calculated by catalytic domain 
outlined in bold. IMPDH2 active is 6u8n, IMPDH2 inactive is 6u8s RMSD to determine how tetramer 
flexing (bent/flat) compares. 
  
  

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



 

Supplemental Table 3. IMPDH1 and IMPDH2 IC50 for GTP in µM 
 

 

 

 

 

 

 

 

 

 

 

 

  

  



 

 
  
Supplemental Table 4. IMPDH1 RP mutations do not change NAD+ or IMP kinetics in any variants 
a-c, Vmax (μM NADH/min/μM IMPDH), K0.5 (μM), and Hill coefficient for NAD+ for WT and RP mutants in all variants. 
a, For NAD+. Reactions performed with 1 µM protein, 1 mM ATP, 1 mM IMP, and varying NAD+. b, For IMP. 
Reactions performed with 1 µM protein, 1 mM ATP, 300 µM NAD+, and varying IMP. c, For GTP. Reactions 
performed with 1 µM protein, 1 mM ATP, 1 mM IMP, 300 µM NAD+, and varying GTP. All data points reported are an 
average of 3 measurements from the same protein preparation. Fits for activity assays were calculated using the Hill-
Langmuir equation V = Vmax*[S]n/((K0.5)n+[S]n) and IC50 was calculated using a modified Hill equation 
V=Vmin*(Vmax-Vmin)/(1+(I/IC50)hill63. 
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